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PROVERTO EMS OLYMPIAD 2021 – GRADE 12 
ECONOMICS 
ROUND 1 

THE CIRCULAR FLOW 

Study the following economic model and answer questions 1 to 5 
 

 

 
 

    

  Money flow  

  Real flow  

   
1. This type of representation in economics is called a _____. 
  

A      model 
B      graph 
C      law 
D      relation 

  
2. The market represented by (E) is the market for: 
  

A      factors of production. 
B      goods and services. 
C      labour and entrepreneurship. 
D      international trade. 

  
3. The flow indicated as (F) from Market (A) to Producers indicates the flow of: 
  

A      factors of production. 
B      the remuneration of factors of production. 
C      goods and services. 
D      the remuneration for goods and services. 

Government 

Households 

Producers 

Market (A) Market (E) 

(B) 

(C) (D) (F) 
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4.  If we assume that this representation is of an economy that is in equilibrium, which one of the following is 
true? 

  
A      NI < NP > NE 
B      NI = NP = NE 
C      NI > NP > NE 
D      NI < NP < NE 

  
5. If Flow (C) represents the flow of goods and services, then Flow (D) most likely represents: 
  

A      public goods and subsidies. 
B      subsidies and taxes. 
C      public goods and taxes. 
D      transfer payments and private goods. 

  
6.  The following was taken from the SARB Quarterly Bulletin (December 2020). 
  

R million 2015 2016 2017 2018 2019 

Compensation of employees 1 912 083 2 072 859 2 225 800 2 320 179 2 418 544 

Net operating surplus 1 079 222 1 123 567 1 226 323 1 249 182 1 296 696 

Consumption of fixed capital 560 416 617 969 638 782 1 249 182 713 078 

Taxes on production 81 169 85 519 92 072 101 936 105 061 

Subsidies on production 7 983 8 356 9 653 6 492 9 796 

Taxes on products 440 102 482 772 497 335 545 558 564 866 

Subsidies on products 15 126 15 270 17 084 12 951 10 821 

Extract from KB601      

 
The value of the GDP at market prices for 2019 is: 

  
A      R 5 451 124 million 
B      R 3 782 008 million 
C      R 5 077 628 million 
D      R 3 651 472 million 

  
7. What will the change in consumption be in a closed economy with no government if there is an increase in 

investment of R4 000 000, and the marginal propensity to consume (mpc) is 0,75? 
  

A      -R16 000 000 
B      -R1 600 000 
C      R1 600 000 
D      R16 000 000 

  
8.  What can the government do if the economy starts to show signs of inflation and they want to curb growth in 

the economy? 
  

A      Increase both taxes and imports. 
B      Decrease government expenditure and increase taxes. 
C      Increase both imports and the consumption of goods and services. 
D      Decrease taxes and increase government expenditure. 
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BUSINESS CYCLES 

9. The opposite of a trough is the point on a business cycle where: 
  

A      inflation is at its lowest. 
B      aggregate demand and cost leads to a decrease in investment. 
C      aggregate economic activity is decreasing. 
D      the unemployment rate is at its lowest. 

  
10. The phase between a peak and a trough on a business cycle can best be described as: 
  

A      a recovery point. 
B      an expansion phase. 
C      a contraction phase. 
D      an optimal output point. 

  
11.  During the growth phase, the economic growth rate on a year-to-year basis is: 
  

A      negative, at an increasing rate. 
B      negative, at a decreasing rate. 
C      positive, at an increasing rate. 
D      positive, at a decreasing rate. 

  
12. Professor Jan van Heerden writes in the article SA’s economic slowdown is structural 

(https://www.iol.co.za/business-report/opinion/opinion-sas-economic-slowdown-is-structural-29d10f0d-
fb37-453d-88a7-a90e503eb6ef) that there are various reasons why South Africa is experiencing a structural 
slowdown.  
 
Which one of the following will not be regarded as a structural problem? 

  
A      The majority of labourers in South Africa have been educated poorly, because the primary and secondary 

education system is dysfunctional. 
B      The government system is not functioning optimally, as it suffers from corruption and basic services are not 

provided adequately. 
C      Manufacturing plants are not able to employ educated, committed, skilled workers who can perform 

whatever is required with a high degree of efficiency and reliability, and deliver what foreign firms require. 
D      An increase in the money supply in order to increase government expenditure and lowering the tax rate on 

both individuals and businesses. 
  
13.  The phase of a business cycle that occurs after a trough and when the growth rate is positive can be described 

as a _____ phase. 
  

A      boom 
B      contraction 
C      recession  
D      depression 

  
14. In an effort to adjust economic growth, the government announces an increase in taxes. This is an example of 

a/an: 
  

A      expansionary fiscal policy. 
B      contractionary fiscal policy. 
C      expansionary monetary policy. 
D      contractionary monetary policy. 

  

https://www.iol.co.za/business-report/opinion/opinion-sas-economic-slowdown-is-structural-29d10f0d-fb37-453d-88a7-a90e503eb6ef
https://www.iol.co.za/business-report/opinion/opinion-sas-economic-slowdown-is-structural-29d10f0d-fb37-453d-88a7-a90e503eb6ef
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15. Which one of the following changes in aggregate demand and aggregate supply will lead to an increase in 
economic growth? 

  
A      An increase in aggregate demand while aggregate supply remains constant. 
B      An increase in aggregate supply while aggregate demand remains constant. 
C      A decrease in aggregate demand and a decrease in aggregate supply. 
D      An increase in aggregate demand and an increase in aggregate supply. 

  

THE PUBLIC SECTOR 

16.  The GDP of South Africa in current prices from 1985 to 2025 is published on the website 
https://www.statista.com. The statistics for 2022 – 2025 is calculated using: 

  
A      historical models. 
B      econometric models. 
C      extrapolation. 
D      moving averages. 

  
17. Which graph depicts VAT the best? 
  

  
 
 
 
 
 
 
 
 
 
 

  
A      Graph A 
B      Graph B 
C      Graph C 
D      Graph D 

  
18.  A large number of fish species have gone extinct due to overfishing. As such, fish in the ocean can best be 

seen as a: 
  

A      common good. 
B      public good. 
C      collective good. 
D      merit good. 

  
19. The government decides to make the Covid-19 vaccine available to all members of the community free of 

charge. The vaccine can be seen as a: 
  

A      common good. 
B      public good. 
C      collective good. 
D      merit good. 

 
 

 

0 

TA
X

 R
A
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EXPENDITURE 

Graph B 

Graph C 

Graph D 

Graph A 

https://www.statista.co/
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20. Which one of the following is not a reason why government will provide merit goods and services? 
  

A      To encourage consumption so that positive externalities of merit goods can be achieved. 
B      To overcome the information failures linked to merit goods. 
C      Consumption of merit goods is believed often to generate positive externalities – where the private benefit 

from consumption exceeds the social benefit. 
D      Because the government believes that consumption should not be based solely on the grounds of ability to 

pay for a good or service. 
  
21.  Government decides to build more wind farms to generate electricity. Which one of the following will be 

classified as an external cost rather than a private cost? 
  

A      The price of the land the farm is built on. 
B      The expenses incurred in installing the wind turbines. 
C      Expenses related to the manufacturing of the wind turbines. 
D      Lower property prices in the area. 

  
22. When the government acquires goods and services for future use, it is classified as: 
  

A      government spending. 
B      government investment. 
C      monetary policy. 
D      fiscal policy. 

  
23.  Which one of the following is not a reason for government spending? 
  

A      To supply goods and services that are not supplied by the private sector. 
B      To achieve improvements in the demand-side of the macro-economy, such as spending on education and 

training to improve labour productivity. 
C      To provide subsidies to industries that may need financial support for either their operation or expansion. 
D      To help redistribute income and promote social welfare. 

  

FOREIGN EXCHANGE MARKETS 

24. Which one of the following best describes an advantage of international trade? 
  

A      International trade encourages a country to specialise in producing those goods and services which it can 
produce at a higher cost, thus increasing the profit opportunity as a result of higher selling prices. 

B      International trade lowers competition and increases world prices, which provides benefits to consumers by 
raising the purchasing power of their own income, and leads to a rise in producer surplus. 

C      The quality of goods and services can increase as competition encourages innovation, design and the 
application of new technologies. 

D      Local producers, who may supply a unique product tailored to meet the needs of the domestic market can 
sell their products at higher prices because consumers will not be interested in cheaper imports. 

 
 
 
 
 
 
 
 

 

https://www.economicsonline.co.uk/Global_economics/Purchasing_power_parity.html
https://www.economicsonline.co.uk/Competitive_markets/Consumer_and_producer_surplus.html
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25. Country X and Country Y both produce two chocolates, FOMOs and YOLOs. Their potential production, using 
all their resources, is shown in the following table: 

  

  COUNTRY X COUNTRY Y  

 FOMO 300 350  

 YOLO 60 210  

  
 In this example, Country Y has: 
  

A      an absolute advantage in both products and a comparative advantage in YOLOs. 
B      an absolute disadvantage in both products and a comparative advantage in YOLOs. 
C      an absolute advantage in both products and a comparative disadvantage in FOMOs. 
D      an absolute disadvantage in both products and a comparative advantage in FOMOs. 

  
26. Possible reasons for a current account surplus are: 

 
(a) surplus of savings over investments. 
(b) significant long-run competitive advantage. 
(c) long-run rise in global prices of main exports. 
(d) structural increase in net investment income. 

 
Which of the possibilities are TRUE? 

  
A      (a), (c) and (d) 
B      (b) and (d) 
C      only (c) 
D      (a), (b), (c) and (d) 

  
Answer questions 27 and 28 based on these figures.  
 

On 8 March 2021, ZAR1.000 = €0,054. 
On 11 March 2021, ZAR1.000 = €0,056. 

  
27. The Rand __________ against the Euro. 
  

A      devaluated 
B      revaluated 
C      depreciated 
D      appreciated 

  
28.  On 11 March 2021, imports of €1 000 will: 
  

A      cost R661,38 more. 
B      cost R661,38 less. 
C      cost the same. 
D      Impossible to say. 
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29. In order to reduce a current account deficit, the government needs to intervene. 
 

(a) Reduce consumer spending. 
(b) Increase consumer spending. 
(c) Supply side policies to improve competitiveness. 
(d) Demand side policies to improve competitiveness. 
(e) Devaluation of the exchange rate. 
(f) Revaluation of the exchange rate. 

 
The best policies to attain the goal of reducing the current account deficit are: 

  
A      (a), (c) and (f) 
B      (b), (d) and (e) 
C      (b), (d) and (f) 
D      (a), (c) and (e) 

  
30. Due to the implementation of new technology, Country H experiences an increase in productivity. This will 

cause the currency of Country H to _____ because goods are produced at a _____ price. 
  

A      appreciate; lower 
B      depreciate; lower 
C      appreciate; higher 
D      depreciate; higher 

 

https://www.economicshelp.org/macroeconomics/economic-growth/supply-side-policies.html


ation

Your future matters.

Imagine your future  
#ChooseUP

Our degrees are internationally recognised.

Our alumni are highly sought after.

We have support programmes to assist our 
students to succeed.

We help to prepare you for the world of work. 

#ChooseUP

Make today matter

www.up.ac.za

Apply as soon as possible from 1 April 2022 
at www.up.ac.za/apply.

Selection programmes close on 30 June 2022.

All other programmes (non-selection programmes)
close as soon as a programme is full.

A4 landscape/portrait Anthea WOO adverts 2022.indd   1A4 landscape/portrait Anthea WOO adverts 2022.indd   1 2022/02/01   08:022022/02/01   08:02



Guiding the leaders of tomorrow

      ECONOMICS

  www.proverto.co.za

                       

22021

                      GRADE 12

                            Olympiad Paper

 High School Olympiad

                                    Round Two

Instructions
1.  Complete questions on the ANSWER SHEET provided.
2.  Complete all information on the ANSWER SHEET.
3.  The ANSWER SHEET consist of 4 sections. Please select 
      the correct section/subject.
4.  There are 4 possible answers per question (A B C D) 
     Only one answer is correct.  
     Colour a circle completely.
5.  Good luck!

                                         Marks: 30

                                      Time: 1 hour

                               Date: 04 Aug 2021





Page 1 of 8 
 

PROVERTO EMS OLYMPIAD 2021 – GRADE 12  
ECONOMICS 
ROUND 2  
 

PROTECTIONISM AND FREE TRADE 
 

1. On 30 April 2021, Halima Gikandi, wrote in an article on www.Pri.org that South Africa's resumption of 
COVID-19 vaccinations has coincided with an extra 1.1 million vaccine doses that were produced locally 
by South African company Aspen Pharmacare. 
 
This is an example of: 

  
A    regulating national trade. 
B    import substitution. 
C    protection. 
D    export promotion. 

  
2. Which one of the following descriptions regarding trade agreements is correct? 

  
A    A unilateral trade agreement occurs when two or more countries impose trade restrictions on a specific 

country and no other country reciprocates. 
B    Bilateral trade agreements occur where two countries agree to loosen trade restrictions to expand 

business opportunities between them by lowering tariffs and confer preferred trade status on each 
other.  

C    Multilateral trade agreements refer to agreements by more than one country and cover a larger 
geographic area, which confers a greater competitive advantage on the signatories. 

D    A non-lateral trade agreement standardises regulations, labour standards and environmental 
protections, thus reducing the regulations and giving the country's exporters a competitive 
advantage over its foreign competitors. 

  
3. Quotas and tariffs are tools that can be used to protect domestic markets.  

 
A tariff differs from a quota in the sense that a tariff refers to: 

  
A    imports and quotas to exports. 
B    exports and quotas to imports. 
C    a surcharge levied on exports, where quotas limit the number of goods that can be exported. 
D    a surcharge levied on imports, where quotas limit the number of goods that can be imported. 

 
 
 
 
 
 
 
 
 
 
 

 

https://www.thebalance.com/what-are-bilateral-trade-agreements-pros-cons-and-list-3305911
https://www.thebalance.com/what-is-competitive-advantage-3-strategies-that-work-3305828
https://www.thebalance.com/what-is-competitive-advantage-3-strategies-that-work-3305828
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4.  South Africa imposes an import quota or tariff on French wine. This leads to an increase in the price of 
wine overall.  
 
What will most probably be the effect on both domestic wine consumers and domestic wineries? 

  
A    Domestic wine consumers will be hurt by the increase in prices, and domestic wineries will benefit from 

the higher prices. 
B    Both domestic wine consumers and domestic wineries will be negatively impacted, but this will be 

compensated for by a decline in deaths caused by motor vehicle accidents. 
C    Both domestic wine consumers and domestic wine producers will be negatively impacted because of a 

reduction in competition from overseas. 
D    Domestic wine consumers will be affected, but the domestic wine producers will lose business as a 

result of the higher prices. 
  

 

THE DYNAMICS OF IMPERFECT MARKETS 
 

 

5. Which ONE of the following is the best example of firms in a perfectly competitive market? 
  

 

 
    

 Diamonds Sneakers Cool drinks Farming 

     
 A B C D 

  
6. What is the maximum profit that the factory can make from production? 

  

 
Quantity 

(Q) 

Marginal 
Revenue 

(MR) 

Marginal 
Cost (MC) 

Marginal 
Profit (MP) 

Total Profit 
(TP) 

  

 1 1200 500     

 2 1000 275     

 3 800 225     

 4 600 250     

 5 400 400     

 6 200 850     

 7 0 1500     

 8 -200 2400     

  
A    R2 000 when he produces 4 units, as MR > MC. 
B    R2 350 when he produces 5 units, as MR > MC. 
C    R2 350 when he produces 5 units, as MR = MC. 
D    R1 700 when he produces 6 units, as MR < MC. 
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7. Calculate the marginal cost (MC) and marginal revenue (MR) when the output increases from 3 to 4 
units. 

  

 
Quantity (Q) 

Price 
(P) 

Total Revenue 
(TR) 

Total Cost (TC)    

 1 1 200 1 200 500    

 2 1 100 2 200 750    

 3 1 000 3 000 1 000    

 4 900 3 600 1 250    

 5 800 4 000 1 650    

 6 700 4 200 2 500    

 7 600 4 200 4 000    

 8 500 4 000 6 400    

  

 MC MR       

A    400 400       

B    250 600       

C    200 850       

D    350 900       

  
8.  If an input is owned and used by a firm, then its: 
  

A    explicit cost is zero. 
B    implicit cost is zero. 
C    opportunity cost is zero. 
D    economic cost is zero. 

  
9. Which of the following short-run cost curves declines continuously as production increases? 
  

A    Average total cost 
B    Marginal cost 
C    Average fixed cost 
D    Average variable cost 

  
10. Which of the following is correct? 
  

A    Perfect competition is when a few firms produce homogeneous goods. 
B    Monopolistic competition is when many firms produce differentiated goods. 
C    Oligopoly is when many firms produce differentiated goods. 
D    Monopoly is when one firm produces homogenous goods. 

  
 

MARKET FAILURES 
 

11.  Which one of the following circumstances does NOT depict market failure?  
  

A    Sellers and buyers in the market have access to important information that would affect a buyer’s 
decision-making. 

B    The market lacks competition because one or a few providers have a disproportionate amount of power 
within that market. 

C    An individual’s consumption doesn’t affect another’s ability to access that good or service, and some 
individuals benefit from the good being provided. 

D    Costs and benefits are unbalanced for providers in the market. 
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12. Which of the following will be regarded as market failures? 
 

(i) Air and noise pollution, as it imposes costs on third parties. 
(ii) Public education, due to costs on tax payers. 
(iii) Online shopping, due to limited internet access and information. 
(iv) Public library where books can be borrowed at no cost. 

  
A    (i), (iii) and (iv) 
B    (i), (ii) and (iv) 
C    (ii) and (iii) 
D    (i), (ii), (iii) and (iv) 

  
13.  Which of the following can be seen as ways that businesses and government respond to market 

failures? 
  
 (i) Designated smoking areas in restaurants. 

(ii) Nutritional information is indicated on food labels. 
(iii) Advertising time is sold on radio. 
(iv) Paid parking at the airport. 

  
A    (i), (ii) and (iii) 
B    (ii) and (iv) 
C    (ii), (iii) and (iv) 
D    (iii) and (iv) 

  
14. Which of the following can be seen as the effects/results of market failures? 
  

 (i) No business is willing to supply a good or service, despite there being a demand. 
(ii) The business may be a monopoly and can restrict supply in order to keep prices high. 
(iii) As a result of taxes, farmers significantly overproduce goods and as a result much of it 

must be thrown away. 
(iv) Society gains a benefit that is not paid for directly by the consumer of the good. 

  
A    (i), (iii) and (iv) 
B    (i), (ii) and (iv) 
C    (ii) and (iii) 
D    (i), (ii), (iii) and (iv) 

  

 

THE DYNAMICS OF PERFECT MARKETS 
 

15. Perfect competition is an industry with: 
  

A    many buyers and many sellers. 
B    only one or two buyers, but many sellers. 
C    many buyers, but only one or two sellers. 
D    only one or two buyers and one or two sellers. 
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16.  Clear Water Ltd. is a perfectly competitive firm. 
 
The demand for water from Clear Water Ltd. has: 

  
A    elasticity equal to the price of water. 
B    unitary elasticity. 
C    infinite elasticity. 
D    zero elasticity. 

  
17. Flipper Good sells fried fish and operates in a perfectly competitive environment. In order to maximise 

their economic profit, they will sell their fried fish: 
  

A    at market price. 
B    above market price. 
C    below market price. 
D    at total market price. 

  
18.  The following graph shows the total revenue line of Charlie’s Chocolates. Charlie’s Chocolates operates 

in a _____ market. 
 

  

  
A    monopolistic competition 
B    monopoly 
C    oligopoly 
D    perfect competition 
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The following graph shows the marginal cost and the average total cost curves of Firm T.  
 

  

  
19. In this graph, the firm is making a: 
  

A    profit of (90 x 50) – (90 x 35). 
B    loss of (90 x 35) – (90 x 50). 
C    profit of (90 x 35) – (70 x 35). 
D    loss of (70 x 35) – (90 x 35). 

  

THE CIRCULAR FLOW, NATIONAL AGGREGATES AND BUSINESS CYCLES 
 

20. During the _____ phase of the business cycle, both the velocity of money supply and investment is high. 
  

A    expansion 
B    recovery 
C    recession 
D    depression 

  
21. Which one of the following best describes a complete business cycle? 
  

A    Expansion, Peak, Recession, Depression, Trough, Recovery. 
B    Expansion, Recession, Depression, Recovery. 
C    Depression, Recession, Expansion, Recovery. 
D    Depression, Trough, Recession, Expansion, Peak, Recovery. 

  
22. Where can injections be found in the standard circular flow model of the macro economy of a country? 
  

A    Households 
B    Producers 
C    Product market 
D    Factors of production market 
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23.  The level of economic activity in a country will: 
  

A    change irrespective of changes in either injections or withdrawals. 
B    grow if the value of injections is greater that the value of withdrawals. 
C    increase if S + T – M = I + G – X. 
D    grow if there is no influence from the financial, foreign and government sectors. 

  
24. South Africa sent doctors to Botswana to help with curbing the spread of COVID-19.  

 
The remuneration paid to them will: 

  
A    have no influence on the national figures of South Africa. 
B    have no influence on the national figures of Botswana. 
C    be added to the GNP of South Africa. 
D    be added to the GNP of Botswana. 

  
 

THE PUBLIC SECTOR, FOREIGN EXCHANGE MARKET, EXCHANGE RATES AND THE 
BALANCE OF PAYMENTS 
 

25. Which of the following is not a typical macro economic issue? 
  

A    A situation of constantly rising prices of commodities and factors of production. 
B    Periodic fluctuations in the levels of economic or business activities. 
C    The trend in the nation’s total output over the short run. 
D    The rate at which a country’s economy is exchanged for another currency. 

  
26.  Which one of the following can be seen as a way government can influence economic growth by means 

of supply-side policies? 
  

A    Cutting taxes to increase disposable income and encourage spending. 
B    Lowering the repo-rate. 
C    Influencing the willingness to work. 
D    Privatisation and deregulation. 

  
27. The Balance of Payments of Country C shows a trade surplus.  

 
This means that there is a: 

  
A    net inflow of domestic currency from foreign markets. 
B    net inflow of foreign currency from foreign markets. 
C    a real outflow of domestic currency from foreign markets. 
D    a real outflow of foreign currency from foreign markets. 

  
28.  On 30 March 2021 Reuters wrote in an article that South Africa recorded foreign direct investment (FDI) 

inflows of 16.0 billion rand (www.reuters.com).  
 
Which one of the following is not seen as FDI? 

  
A    A foreign investor purchases shares in a company in South Africa. 
B    A foreign investor sets up a new company in South Africa. 
C    A foreign investor expands the operation of an existing company in South Africa. 
D    A foreign investor borrows funds from a company in South Africa. 

  

http://www.reuters.com/
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29. An appreciation of the South African Rand against the Yen will lead to a/an: 
  

A    decrease in South Africa's exports to Japan, and worsen the South African current account balance. 
B    decrease in South Africa's imports from Japan, and improve the South African current account balance. 
C    increase in South Africa's exports to Japan, and improve the South African current account balance. 
D    increase in Japan’s imports from South Africa, and worsen the South African financial account. 

  
30. What would the effect of an appreciation of the Rand on the SA economy be? 
  

A    The foreign price of SA exports will increase. 
B    Imported goods will be more expensive. 
C    Lower economic growth as domestic aggregate demand will decrease. 
D    Lower aggregate demand will lead to lower demand-pull inflation. 
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